Zadanie 1 -Bilans

llosc
mieszkanc 90%-
Ip nazwa ow q(l/sim)  |V(m®) Nd Nh Vimaxd(M?) |Vdmad(m®?) |q(l/s) wszystkich| Pompownie
1|Wtelno 939 120 112,68 1.4 1,9 12,49 6,57 3,47 3,12
2|Tryszczyn 778 120 93,36 1,4 1,9 10,35 5,45 2,87 2,59
3|Morzewiec 157 120 18,84 1,4 1,9 2,09 1,10 0,58 0,52
4|Gogolinek 147 120 17,64 1,4 1,9 1,96 0,22 0,54 0,49
4al1+2+3 1874 120 224,88 1,4 1,9 24,92 13,12 6,92 6,23
4b|1+2+3+4 2021 120 242,52 1,4 1,9 26,88 14,15 7,47 6,72|Wtelno Ps-1
5|Goscierad3 333 120 39,96 1,4 1,9 4,43 0,49 1,23 1,11
5a|1+2+3+4+4 2354 120 282,48 1,4 1,9 31,31 3,47 8,70 7,83|Goscieradz Ps-2
6|/Stopka 336 120 40,32 1,4 1,9 4,47 0,50 1,24 1,12|Stopka PUM Ps-4
7|Bytkowice 101 120 12,12 1,4 1,9 1,34 0,15 0,37 0,34
8|Gos¢ Kop 44 120 5,28 1,4 1,9 0,59 0,06 0,16 0,15
8a|5a+6+7+8 2835 120 340,2 1,4 1,9 37,71 4,18 10,47 9,43
9| Mondi+Smakovit-food -wedlug projektu firmy Recykl 210 w.m
9a|9+8a | [ . 14,5 Stopka Mondi Ps-3




